Small Frag Plate System

S-type Clavicle Plate

1 LCP | L eftright) W 4/5/6/7/8/9/10/11/12 Holes Titanium | pes HA3.5 HB4.0
2 COMBI Supenc_)r Anterior Clavicle Plate, Combi-holes 6/7/8/9/10/11/12 Holes Titanium pes HA3.$ HB4.0
(Left/Right) 3.5 cortical screw
Superior Anterior Clavicle Plate with Lateral Extension,
Combi-holes m . HA3.5 HB4.0
3 COMBI (LeftRight) 3/4/5/6/7/8/9/10 holes Titanium pcs 3.5 cortical screw
Clavicle Hook | o) N
..
4 LCP | LetuRight) %(}\Q\\a 2/3/4/5/6 Holes Titanium | pcs HA3.5 HB4.0
5 LCP |Humerus Straight Plate / 4/5/6/7/8/9/10/11/12/13/14 Holes Titanium pcs HA3.5 HB4.0
6 LCP |Lateral Proximal Humerus Plate i) 0[-. » yya TS yon 3/4/5/6/7/8/9/10/11/12 Holes Titanium pcs HA3.5 HB4.0
7 LCP |Lateral Proximal Humerus Plate |1 wm 4/5/6/7/8/9/10/11/12 Holes Titanium pcs HA3.5 HB4.0
8 COMBI |Lateral Proximal Humerus Plate | m 2/3/4/5/6/7 Holes Titanium pcs HA3.$ HB4.0
3.5 cortical screw
9 |CoMmBI |Lateral Proximal Humerus Plate I m 5/6/7/8/9 Holes Titanium | pes HAS.5 HB4.0
3.5 cortical screw
10 COMBI |Periarticular Proximal Humerus Plate 3/4/5/6/7/8/9/10/11/12/13/14 Holes Titanium pcs HA3.$ HB4.0
3.5 cortical screw
Proximal Humeral Greater Tuberosity Plate, Combi- HA2.7 HB3.0 HA3.5
11 COMBI [hole, 5 holes Titanium pcs HB4.0
(Left/Right) 3.5 cortical screw
12 COMBI [Medial Distal Humerus Plate 3/4/5/6/7/8/9 Holes Titanium pcs HA3.$ HB4.0
3.5 cortical screw
13 | Lcp |Lateral Distal Humerus Plate 4/5/6/7/8/9/10/11/12/13/14 Holes | Titanium | pcs HA3.5 HB4.0
(Left/Right)
Lateral Distal Humerus Plate with Support, Combi- HA2.7
14 COMBI |hole, 3/4/5/6/7/8/9/10/11/12/14 Holes Titanium pcs HA3.5 HB4.0
(Left/Right) 3.5 cortical screw
15 |comai Extra—a}mcular Distal Humerus Plate, Combi-hole 4/5/6/7/8/9 Holes Titanium pes HA3.$ HB4.0
(Left/Right) 3.5 cortical screw
Medial Distal Humerus Plate
16 LCP |(Left/Right) 5/6/7/8/9 Holes Titanium pcs HA3.5 HB4.0




Medial Distal Humerus Plate, Combi-hole

HA2.7

17 COMBI (LeftRight) 3/4/5/6/7/8/9 Holes Titanium pcs HA3.5 HB4.0

3.5 cortical screw
18 |comsi ?ﬂ;f}k?g“;"oera' Sub-condyle Plate, combi-hole 4/6/7/8110 Holes Titanium | pes 3'??&';8540'2”
19 | Lep (D:Z:f}k?g“%ems Y Plate 3/4/5/6 Holes Titanium | pes HA3.5 HB4.0
20 LCP |Proximal Ulna Dorsal Plate 4/5/6/7/8 Holes Titanium pcs HA3.5 HB4.0
21 COMBI t.ll_lgz/gilgﬁtr)anon Plate, Combrhole 3/4/5/6/7/8 Holes Titanium pcs 3: /ch\gr-t?clestiw
22 COMBI |Radial Head Plate , Combi-hole 3/4 holes Titanium pcs HA2'4

2.4 cortical screw
23 COMBI :T_a;(fjti}allqi:ﬁ{a)d Plate with Low Profile, Combi-hole 3/4 holes Titanium pes ”a COTﬂACZ’a.lzlscreW
24 LCP |Ulna and Radius Straight Plate M ! 4/5/6/7/8/9/10/11/12/13/14 Holes Titanium pcs HA3.5 HB4.0

—
25 | Lep 82':3;?9;;"3"3 3/4/5/6 Holes Titanium | pes HA3.5 HB4.0
26 | Lcp 82';3;?9;;’ late 11 3/4/5/6 Holes Titanium | pes HA2.7 HB3.0
27 LCP |Distal Radius T Plate 3/4/5/6/7/8/9/10/11/12 Holes Titanium pcs HA3.5 HB4.0
28 LCP |Distal Radius T Plate | 3/4/5/6/7/8/9/10/11/12 Holes Titanium pcs HA2.7 HB3.0
29 | Lep (?_‘;';f;'zis:i;a' Radius Plate | 4/5/6 Holes Titanium | pes HA2.7 HB3.0
30 | Lep X_ﬂf&%ﬂtﬁ)" Radius Plate 2/3/4/5/6 Holes Titanium | pes HA2.7 HB3.0
a1 |coms E/Lilﬁ; F:‘xi’;mht;Distal Radius Plate, Combi-hole 3/4/5/7/9 Holes Titanium | pes ”a CO’:ﬂ”ir‘screw
32 COMBI .(Jf:ftt:;ll-;gr;ﬁ;llar Volar Distal Radius Plate 3/5 holes Titanium pes ”a co';'t?ifscrew
33 |cowmsl E’L‘zﬁ;’g;’;‘g“” Distal Radius Plate 3/4/5/7/9 Holes Titanium | pes 04 Co':ﬂ”éfscrew
34 |cowmsl 2{_"9';;&?;:3' Radius Plate with Low Profile 3/4/5/7/9 Holes Titanium | pes HQE'ZO';'“A;FS';'E\;O
35 |comsl (TL";‘T’I'/;?;“hT;” Volar Distal Radius Plate, Combi-hole, ) ) ) ) ) 3/4/5/7/9/11 Holes Titanium | pes aa oo
Two-cplumn Volar Distal Radius Plate with Low Profile, o HA2.4

36 COMBI (Combi-hole 3/4/5/7/9/11 Holes Titanium pcs

(Left/Right)

2.4 Cortical screw




Distal Radius Oblique T Plate

37 LCP (LeftRight) h 3/4/5/6 Holes Titanium pcs HA3.5 HB4.0
38 | Lcp (DL':;S"Q?;Q')“S Oblique T Plate | h 3/4/5/6 Holes Titanium | pes HA2.7 HB3.0
39 COMBI Dorsal Distal Radius T Plate, Combi-hole 3/4 holes Titanium pes HA2.4
2.4 cortical screw
Dorsal Distal Radius Right-angle L2+ Plate, Combi- HA2.4
40 COMBI |hole 3/4 holes Titanium pcs L
(LeftRight) 2.4 cortical screw
Dorsal Distal Radius Right-angle L3+ Plate, Combi- HA2.4
41 COMBI |hole 3/5 holes Titanium pcs L
(Left/Right) 2.4 cortical screw
Dorsal Distal Radius Oblique L Plate, Combi-hole N HA2.4
42 COMBI (LeftRight) b 3/4 holes Titanium pcs 2.4 cortical screw
43 | Lcp |Tibial Straight Plate N 4/5/6/7/8/9/10/11/12/13/14 Holes | Titanium | pes HA3.5 HB4.0
4 | Lep (F’Lrgf’:}g%'hgb'a Medial L Plate & 3/4/5/6/7/8/9/10 Holes Titanium | pes HA3.5 HB4.0
45 | Lcp |Medial Proximal Tibial Plate — 314/5/6/7/8/9/10/11/12/13/14/15 Holes | Titanium | pes HA3.5 HB4.0
(Left/Right) ol RS
Ao
Medial Proximal Tibia T Plate Bovs -~ HA3.5 HB4.0
46 | COMBI (LeftRight) a\ "'v-—,-,_,.,..,= e tastentet] 3/5/8/12/16 Holes Titanium pcs 3.5 cortical screw
47 | COMBI |Posteromedial Proximal Tibia Plate m 3/5/7/9 Holes Titanium pcs HA3'§ HB4.0
3.5 cortical screw
48 | Lep I(_Laelfl;;lilgjrﬁ)lal Tibia Plate 5/6/7/8/9/10/11/12/13/14 Holes Titanium | pes HA3.5 HB4.0
49 | Lcp ?ﬂiﬁ;ﬂigﬁ;ﬁ' Tibia Plate I 5/6/7/8/9/10/11/12/13 Holes Titanium | pes HA3.5 HB4.0
50 LCP |Medial Distal Tibia Plate Il ~ 55 4/6 holes Titanium pcs HA3.5 HB4.0
Medial Distal Tibia Plate , Combi-hole N HA3.5 HB4.0
51 COMBI (LeftRight) 4/6/8/10/12/14 Holes Titanium pcs 3.5 cortical Screw
52 | Lcp I(fet?t;;li;ﬁ)tal Tibia L Plate N 3/4/5/6/7/8/9/10/11/12/13 Holes Titanium | pes HA3.5 HB4.0
. . el L LT T T pee—
53 |comp|-2eral Distal Tibial L Plate === 3/5/7/9/11/13/15/17 Holes Titanium | pes HAS.5 HB4.0
(Left/Right) 3.5 cortical screw
Lateral Distal Tibia L Plate with Low Profile ‘{M o HA3.5 HB4.0
54 COMBI (LeftRight) b 6/8/10/14/18 Holes Titanium pcs 3.5 cortical screw
55 Lcp (tr:;is ‘:’;:g Medial Plate M 4/6/8/10/12/14 holes Titanium | pcs HA3.5 HB4.0
56 COMBI | Distal Tibia Medial Hook Plate, Combi-hole 3/4 holes Titanium pcs HA3.5 HB4.0

3.5 cortical screw




(Left/Right)

57 | LcP |Anterior Distal Tibia T Plate q 416 holes Titanium | pes HA3.5 HB4.0

58 LCP |Posterior Distal Tibia T Plate M 3/4 holes Titanium pcs HA3.5 HB4.0
Posterolateral Distal Tibia L Plate N

59 LCP (LeftRight) d 4 holes Titanium pcs HA3.5 HB4.0

60 LCP |Distal Fibula Support Plate W 3/4/5/6/7/8/9/10/11 Holes Titanium pcs HA3.5 HB4.0

61 | LCP |Distal Fibula Support Plate | G2 *y? aitra = o o 3/4/5/6/7/8/9/10 Holes Titanium | pcs HA2.7 HB3.0
Distal Fibula Plate N

62 LCP (LeftRight) % 3/4/5/6/7/8/9/10/11 Holes Titanium pcs HA3.5 HB4.0
Distal Fibula Plate | -

63 LCP (LeftRight) % 3/4/5/6/7/8/9/10 Holes Titanium pcs HA2.7 HB3.0
Lateral Distal Fibula Plate, Combi-hole -Cefary hA2.7

64 COowmMBI . ' " 4/5/6/7/8/9/10/11/12/13 Holes Titanium pcs HA3.5 HB4.0
(Left/Right) -

3.5 cortical screw

Posterolateral Distal Fibular Plate, Combi-hole hA2.7

65 |COMBI - ’ 3/4/5/6/7/8/9/10 Holes Titanium pcs HA3.5 HB4.0
(Left/Right) -

3.5 cortical screw

66 LCP |Reconstruction Plate | e T — 4/5/6/7/8/9/10/11/12/13/14 Holes Titanium pcs HA3.5 HB4.0

67 LCP |Reconstruction Plate Il 4/5/6/7/8/9/10/11/12/13/14 Holes Titanium pcs HA3.5 HB4.0
Calcaneal Plate Long L

68 LCP (LeftRight) 3/4 holes Titanium pcs

HA3.5 HB4.0

Calcaneal Plate Short N

69 LCP (LeftRight) 3/4 holes Titanium pcs
Calcaneal Plate Il N

70 LCP (LeftRight) Long/Short 15 Holes Titanium pcs HA3.5 HB4.0
Calcaneal Plate Il L

71 LCP (LeftRight) L/M/IS Titanium pcs HA3.5 HB4.0
Calcaneal Plate IV N

72 LCP (LeftRight) @ 8/10 Holes Titanium pcs HA3.5 HB4.0
Calcaneal Plate V -

73 LCP (LeftRight) % Large/Small Titanium pcs HA3.5 HB4.0
Anterior Process Calcaneal Plate

74 LCP |(Left/Right) 5 holes Titanium pcs HA3.5 HB4.0
Posterior Tuberosity Calcaneal Plate N

75 LCP (LeftRight) 5/6 holes Titanium pcs HA3.5 HB4.0

76 | Lcp |Combo Calcaneal Plate ﬁ 8/9 Holes Titanium | pes HA3.5 HB4.0




7 LCP |Anatomic Calcaneal Plate L/M/S Titanium pcs HA3.5 HB4.0
78 LCP |1/3 Tubular Plate 4/5/6/7/8/9/10/11/12 Holes Titanium pcs HA3.5
™
79 LCP |Proximal Tibia T Plate-Head 2 holes AT . 5/6/7/8/9/10/11/12 Holes Titanium pcs HA3.5 HB4.0
{nl -~
O oo
80 | LCP |Proximal Tibia T Plate IV-Head 4 holes m 5/6/7/8/9/10/11/12 Holes Titanium | pes HA3.5 HB4.0
81 LCP |Pelvic Plate | 4/6/8/10/12/14/16 Holes Titanium pcs HA3.5 HB4.0
82 LCP Patella Claw = L/MS Titanium pcs 2.5 hexagonal screw
Large Fragment Plate System
1 LCP |Femur Straight Plate % 4/5/6/7/8/9/10/11/12/13/14/15 Holes | Titanium | pcs HAS.0 HB5.3
2 LCP |Lateral Proximal Femur Plate 5/6/7/8/9/10/11;5413/14/15/16/17 Titanium pcs HA5.0 HB5.3
Lateral Proximal Femur Mini Plate L
3 LCP (LeftRight) 4/5 Holes Titanium pcs HA5.0 HB5.3 HB7.0
4 |comp |Lateral Proximal Femur Plate 3/4/5/6/7/8/9/10/11/12/13 Holes | Titanium | pes HAS.0 HB5.3
(Left/Right) 5.0 cortical screw
5 | Lcp |Medial Distal Femur Plate 5/6/7/8/9/10/11/12/13/14 Holes Titanium | pes HAB.0 HB5.3
(Left/Right)
6 | Lcp |tateral Distal Femur Plate 4/5/6/7/8/9/10/11/12/13 Holes Titanium | pes HAS5.0 HBS5.3
(Left/Right)
Lateral Distal Femur Plate, Combi-hole _— HA5.0 HB5.3
7 COMBI (LeftRight) M 4/5/6/7/8/9/10/11/12/13 Holes Titanium pcs 5.0 cortical screw
s Lcp |Lateral Proximal Tibia Plate W 3/4/5/6/7/8/9/10/11/12/13/14 Holes | Titanium | pcs HA5.0 HB5.3
(Left/Right)
Lateral Proximal Tibia L Plate N 3-6 holes: HA3.5 HB4.0
9 LoP | Coimiann \ 3/4/5/6/7/8/9/10/11/12/13/14 Holes | Titanium | pes A e D M 5
Locking holes use
10 | Lcp |-teral Proximal Tibial L GPT Plate 3/4/5/6/7/8/9/10/11/12/13/14 Holes | Titanium | pcs HAS.0/HB5.3; Polyaxial
(Left/Right) hole and compression
hole use HA3.5/HB4.0
Locking holes use
11 | Lcp |-ateral Proximal Tibial L GPT Plate 3/4/5/6/7/8/9/10/11/12/13/14 Holes | Titanium | pes HAS.0/HB5.3; Polyaxial
(Left/Right) hole and compression
hole use HA3.5/HB4.0
12 LCP |High Tibial Osteotomy Plate Long /Medium /short Titanium pcs HA5.0 HB5.3




1 FNS |Angled plate 1/2 holes Titanium pcs
> FNS |Dynamic Bolt 75/80/85/90/95/100/105/110/120/125/13 Titanium pes
omm
3 FNS |Antirotation screw ST e e 75/80/85/90/95/108&25/110/120/125/13 Titanium | pcs
4 | FNS |M5 Locking Screw I e 18/20/22-60mm Titanium | pes
Mini Plate
1 LCP |Mini Plate X Type m 4 Holes Titanium pc HA2.0 locking screw
2 LCP [Mini Plate- T3+ Type geam 3/5/7 Holes Titanium | pe HA2.0 locking screw
)
3 LCP |Mini Plate- T2+ Type Mﬂ 3/5/7 Holes Titanium pc HA2.0 locking screw
4 | LCP |MiniPlate- Y3+ Type %m 3/5/7 Holes Titanium | pc HA2.0 locking screw
5 LCP [Mini Plate- Condyle 1 Type w 3/5/7 Holes Titanium | pc HA2.0 locking screw
6 LCP ?ﬂ:flt/l:?;ﬁt_)condyle 2Type 5/6 Holes Titanium pc HA2.0 locking screw
7 LCP [Mini Plate- Condyle 3 Type W 5/6/7 Holes Titanium | pc HA2.0 locking screw
8 | Lep zf'_g‘f't/',’_.{'f‘g‘ﬁt)" Type 8—0‘0’0'@ 2/4 Holes Titanium | pe HA2.0 locking screw
9 LcP ?f'_';‘;ﬂgfgﬁt')lzo Type M 2/4 Holes Titanium | pc HA2.0 locking screw
10 LCP |Mini Plate- Reconstruction Straight Type [ o ) 6/8/12/16 Holes Titanium pc HA2.0 locking screw
11 LCP |Mini Plate- Straight Type m 4/5/6/7/8 Holes Titanium pc HA2.0 locking screw
i Plate
- ) o
1 Lcp %Lgfm'{;;g”‘ Plate oblique-angled Al ol 8 Holes Titanium | pc HAL.5 locking screw
2 LCP |1.5 Mini Plate T3+ type 4 4/8 holes Titanium pc HALS Iot_:klng screw
800‘-00%0 1.5 cortical screw
3 LCP |1.5 Mini Plate T4+ type $ 4/8 holes Titanium pc HALS Iot_:klng screw
1.5 cortical screw




R -
4 | LcP |15 Mini Plate Y type SN 4/8 holes Titanium | pe Hfﬁiéfﬁﬁ;?imw
5 COMBI |1.5 Mini Plate Straight type, Combi-hole % 4/6 holes Titanium pc Hf;.i(l)r;[cig:gscsgiw
CCr e
6 LCP |1.5 Mini Plate Reconstruction type e * 6/12 holes Titanium pc HA1.5 locking screw
7 LCP |1.5 Mini Plate Condylar type 4/8 holes Titanium pc HA1.5 locking screw
2.4 Mini Plate
1 | comp: |24 Mini Plate -T2+ type, Combi-hole 3/5/7 holes Titanium | pc H?i‘igfgggi:gzw
> | comp: |24 Mini Plate -T3+ type, Combi-hole 3/5/7 holes Titanium | pc H?i‘igfgggi:gzw
3 CoMmBI 2.4 Mini Plate -Y type, Combi-hole 3/5/7 holes Titanium pc H?i‘i;?;ggi:giw
4 CoMBI 2.4 Mini Plate -Condylar type, Combi-hole 3/5/7 holes Titanium pc H?i‘i;?;ggi:gzw
5 | comp: |24 Mini Plate -Straight type, Combi-hole 415/6/7/8/9/10 holes Titanium | pc H?ii(la(r)tcigggs:fervevw
6 | COMBI|2.4 Mini Plate -Reconstruction type, Combi-hole %% 6/12 holes Titanium pc H?ii(')(::gg gsslf?el’ve\lw
2.7 Mini Plate
-
1 |comBI|2.7 Mini Plate -T type, Combi-hole % 3/4 holes Titanium | pc ”Qiig?,ff;”&ffg;w
?
2.7 Mini Plate -L type, Combi-hole N HA2.7 locking screw
2 COMBI (LeftRight) %Q 3/4 holes Titanium pc 2.7 cortical screw
-
2.7 Mini Plate -Arc L type , Combi-hole c O N HA2.7 locking screw
s |coms [ Lamics ‘-v-\% 3/5 holes Titanium | pc 2.7 cortical screw
- . ':,—,.. N HA2.7 locking screw
4 COMBI |2.7 Mini Plate -Condylar type, Combi-hole g«:.\:,\m 3/5/7 holes Titanium pc 2.7 cortical screw
SCecennna,,
D -, .
5 COMBI (2.7 Mini Plate -Reconstruction type, Combi-hole el 6/12 holes Titanium pc Hg%'z;?g:gi:g‘zw
(ool ol i
6 | COMBI|2.7 Mini Plate -Straight type, Combi-hole eSlealogly 4/5/6/7/8/10/12 holes Titanium pc Hg%zxg ijf;;w
. Titanium
1 SHA |Locking screw HA1.5 T 6/7-20/22/24 mm alloy PC Trox
. P Titanium
2 SHA |Locking screw HA2.0 6/7-20/22-32 mm alloy PC Trox




Titanium

3 SHA |Locking screw HA2.4 T 10/11-20/22-36 mm alloy PC Trox
4 | SHA |Locking screw HA2.7 —— 10/11-20/22-36 mm Ti‘;'l’;‘;m PC Trox
5 | SHB |Locking screw HB3.0 Coainssssisesly 10/11-20/22-36 mm T";Tg;m PC Trox
6 | SHA |Locking screw HA3.5 P | 12/14-46/80/85 mm Ti‘;'l’;‘;m PC Trox
7 | SHB |Locking screw HB4.0 L= FbsResmame 12/14/16-86 mm T";Tg;m PC Trox
8 | SHA |Locking screw HA5.0 L 18/20/22-60mm Ti‘;’;;‘;,m PC Trox
9 | SHB |Locking screw HB5.3 W 18/20-80/85-105/150 mm T";Tg;m PC Trox
10 | HAQ |Non-locking 1.5 Cortical Screw ) 6/7-14/16-20 mm T";Tg;,m PC Trox
11 | HAQ |Non-locking 2.4 Cortical Screw ) 10/11-20/22-36 mm T";Tg;m PC Trox
12 | HAQ |Non-locking 2.7 Cortical Screw ) 10/11-20/22-36 mm T";Tg;m PC Trox
13 HAQ |Non-locking 3.5 Cortical Screw W 12/14-70 mm Tit:lr;(i;;m PC Trox
14 HAQ |Non-locking 5.0 Cortical Screw w 20/22-70 mm Tit;?g;m PC Trox

Instrument set for Universal Plate

1 (3.5&5.0 screw system) Set

2 Instrument set for small fragment Plate Set
(3.5 screw system) €

3 Instrument set for large fragment Plate Set
(5.0 screw system) €

4 Instrument set for Volar Plate Set
(2.7 screw system) €

5 Instrument set for metacarpus and phalange plate Set
(2.0 screw system)

6 |Instrument set for Femoral Neck System Set






